REV.| DESCRIPTION

NCR DCR BY DATE APPROVED
Added hardware list 197 MS 7APR17 AD
7.61
ITEM NO. DESCRIPTION PartNo Qry.
Dodge Promaster Speaker
\ o o 1 Holder 835-0037A | 1
2 DRCS110 Speaker 1
7.29
M
0
7.55 /
£ I EAS S
i i
i i
™ 8.83
NAME DATE \ ELECTRONICS CO.wm RDé‘V'\‘QDR_ANSl_A Size
DRAWN VM | 08/15/16 @ Gk APRIL 1,2009 A
Path: YAAM\MECH_DATA\935 Speaker Brackets\Dodge Promaster DRCS110 Speaker\
CHECKED AD 08/15/16 Fie: 935-0085A
Date: April-07-17 9:47:53 AM
DESCRIPTION:
HARDWARE LIST owmnasownes - Dodge Promaster Speaker
P ANDISTHESOLE | i Holder Assembly
n n n an
De"scr|p1!on Part Number | Quantity N%E%E%E%PE% Ega;& A}SSIE MFG. NO. 935.0085A %
1 1/4-20 x 3/4" Carriage Bolt S.S 411-0012 2 WRERINPART NTHOUTTHE = losemore
2 1/4-20 x 3/4" Hex Bolt S.S 411-0027 1 ELECTRONICS CO. LTD. ) SHEET 1 OF 1
3 1/4-20 Flat Washer S. 4130018 3 M Black Semi Gloss " SEE TABLE 0
4 1/4-20 Nyloc Nut S.S 432-0002 3




	Sheet1
	Drawing View1
	Drawing View4
	Drawing View6
	Drawing View7


